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And does Rabi Meyer maintain, etc. — S5y 9% %29 30

OVERVIEW

The X713 cites a X172, which states; one who transports a barrel for his friend and
it broke, 7°X7 " maintains that whether the transporter was a 217 921 or a MW
75w, the rule is that he swears that he was not negligent (yw19) and is .’
However 777 ' maintains that if he was a 1"?, indeed he swears and is ™o, if
however he was a ¥"v, he needs to pay. The X 3 contrasts this ruling of »"
(which seems to maintain that a Pn3; one who trips, is not a yw1) with another
"9, where 1" maintains that y219 5pna.° moon first explains why the X3 cited
the apparent contradiction between both rulings of »n"9, but did not mention the
contradiction between the two rulings of °"7. Additionally m»oin discusses at
length when an p>1277 27X is liable for 013X and when not

= NOVP KD AN 229X N 1INY %297 YaN
However there is no difficulty between "' of our Xn»12 and the ''9 of the other®
cited Xn>72 -

= N /9 NN NPIID KDY 115 N9V Y9V9T DINONY 523 by Ny
And even though the 23221, who exempt him in the case of ‘his jug broke and

he did not remove it’, express the view of 3''1 -
- 6N1ﬂ YWD IND 5175'\) 17Y02 229 9207 (9nx Ynnnn M7 0w 2,05 97 8P Naa) NN NIINTD

As is evident in m1277 P15 that 3'' maintains X7 pws X5 Hpn: -
- IPYYO XYY 1T NIIWIZ NV TN DN NN NYT 23 HY N YWD 9 NYT 1199

So since a %pn1 is not a ywe, so even though he is not considered a complete
BN in the case of PRI K®Y 172 12w, nevertheless he is 1wy -

"' In our texts it reads; 7°Xn "7 7207 XY (instead of 1" 7207).

? It is apparent that »"3 considered this to be an onx and (even) a @"w is 10 by 1°01K.

? The case in that Xn™92 is where one’s jug broke (in the 7"51) and he did not remove it, and someone was damaged
by it, where »"1 maintains he is 217 and the 2°n217 (which refers to 771 1) maintain he is 715. The & 13 explains
that this np172nn depends whether Y215 9pn1 (") or not (2°»o1 [>"]).

* See footnote # 3.

> One cannot argue that there is no contradiction since *" is not mentioned in the other X012, as '01n explains.
Therefore this Xn*"2 (which expresses the view of >") seemingly contradicts our >"7 who maintains here that the
v"w is liable.

% One who trips is not considered negligent according to the view of >"1. Therefore by 175 772w1 he is Mw>.

7 This would seem to be the beginning of NvoIN answer (therefore perhaps it should read 11°37 [instead of 11°21]).

¥ He is not a yu, for the 75 broke because he tripped (and ¥w12 W 9pn1); however he is not completely guilt free,
since if he were careful he would not have tripped. Therefore he will be 21 by n°an 7°avni (if he is a w"w), but not
by 172 772w1 (as N1BOIN continues to explain). See footnote # 12.
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- Tnyrwsa NUMY RN 913 2PUN K91

For an obstruction in 1"777 is not considered a =12 unless it was done 7y woa -
- 1°‘m:9 N1 NIRY NI 13 NTANI N2 PPYIT UIINA AVYIVaA YaN

However, when a 712 is made through an o238 which is similar to X''13, like for

instance the M2 was cause by an uncommonly strong wind, there is no M2 2vn -
= 095N 9NN 229 NTI 11D NHAYWIT RNPYI2T NOYDA NNPTD

As it states in the X890 of the aforementioned Xn=92 of 'v75 93w’ ‘and »''9

(who maintains 211 by 121172 772w1) admits to the 2% in a case —
- 19509 NINW 175109 N8N NPRY N1 19931 1309 AN Y 193737 NYyna

Where one brought up bottles on the roof in order to dry them, and they fell
down by a 713% 7°8w mA, and damaged; that he is = ws.'?

nooIn asks:
= 9909 MNNIN DIIN NIN NI YYI IND DPNIT 9ONN 229 920 ) 23 99NN ON)

And if you will say; even if »''% maintains (here) Ypn1 is not a ¥wis, but rather

he is an ®1uR, nevertheless why is he 92 in our Xn»12 of DPn? DPRR MM PavnT -
- N899 DIN YY 299NY YN0 NN YN (3,1 97 xnp xa3) 19539 PITAN DN RN

Since we derive from the 705 of yp nnn pxp that regarding a person who
damages, he is liable for 2238 just as he is liable for damaging willfully.

N1B0IN answers:
- 2PN DTN 3590 TIN 993 INTT )5 YW

And one can say that an 177 27K is not liable for every o1IR; he is liable -

’ Damage caused by the broken 72 can make him liable only on account of placing a 7"772 M12; since he did not
directly damage the passerby. Here he did not consciously place the 7"772 713, it was caused by the mishap, which
was not a nywd. Therefore it is not considered M2. A 7"772 712 is 20 only when one places the 712 there
(consciously or) ny*ws1.

' If one placed items on his roof (which would not be blown down by a %2 M) and a 7%» 71X 211 blew them
into a 1"7", where it landed and did damage, there is no 712 21°1, since it was not done 7¥°wd3, but rather with an 01X
X" Y2, An X" 1PY2 DI is nor an 713 01X, however it is not as negligent as a 7y w». It is similar to the negligence
of X". Later (by footnote # 15) '01n will show that 7771¥7 72°XW 17 is similar to X",

"' The difference (according to n"1) between the X and the X9°0 is that by 175 7172w3 he is 2°°1, since YWD YPN1 so
the M2 (the shards of the broken 72) were placed there 7y°w53, however when his 0°1p1p were blown off the roof by a
77X 71RW 717; that is not a 7y°wd, but rather an X"13 1°¥2 01X, and therefore there can be no M2 2vn.

2 We can now understand why there is no contradiction between the two rulings of >"3. A 5pn1 is not a ¥y29, but
nevertheless he is somewhat responsible, similar to the liability for X"13, for which a n"w is 79 and a w"w is 27.
Therefore in our Xn»12 where he broke the barrel, he is liable if he is a w"w (since ?pn1 is akin to X"), and is Mo if
he is a n"w. However in the case of fp2°0 X?1 172 712wy, so granted that it may be like X", but it certainly is not a
7y*ws, and since the liability there, can be only on account of M2 (since he did not damage directly), he is 715, since
there can only be a M2 21n if it is done 7¥°w53, but not if it was done through an X"13 7°¥> onX. See later in this '01n
(by footnote # 32) why in our case the 1" is not 2°°17 on account of P77 Q7K.

13 39,80 (ovown) ninw. Here it is not a case of 712 (which requires 7¥°wd), but rather a case of P17 DX.
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- A8 NIRY MY 13 ANy nas) 1P¥57 DN NON

Only for an o238 which is similar to X''13, like an uncommon wind —
- 15‘,7?) 290 N 1 NNNN NINRY NI DOIT (3,13 971 RIAP NIT %YW PID 9ID 199INYT

As 727 states in the end of the second 99 of ?''a noon, that if a person fell off
the roof by a "% 78w m11 and he damaged while falling'® he is liable for 13 -

NN will now show that the 01Xk of a °1%» 7KXW M1 is similar to the 01X of X'":
= (8,70 970v) N 7T P99 910 1)*9INTD "‘n‘r’:m 1233 N NNNN NIRY NN

And the negligence of damaging through a m™%% aPdRW m9 is similar to the
negligence of losing a deposit, as the Xn»72 states in the end of 'm "7 P9p -

- D3N AIVN IN PIYAY NYAN 3127 INNY B3N F)919
‘And they are all required to return the value of the ox to its owner, except for

a n''w’, who does not need to return the money to the owner -
- A9 NPNRY DI N9 AMND NNY 799031 BNN 1Y Do

And the X 1) there established the xn»12, where the "mY guarded the animal

with a minimal guarding, but he did not guard it with an optimal guarding;

therefore, regarding -
- 25913 1999Y HNYs DIN IV

A n''w; his responsibility was completed, etc. this completes the citation of the X723

there. NddIN continues -
= 11981 N2 NHNYY N9IFY NYT 13N NN NIIY)

And a nnine 99w is like a door which can withstand a regular wind -
= (3,m 97 0w) TN Y2 ¥NYUNTI N8N NIINY NI TIiIYY NDI19» NN

But cannot withstand an uncommonly strong wind, as is indicated in the

beginning of 11277 P79 -
=20 92V 91U 909 DIN 92IVT HT2ANI NI )P¥I MM

' 1" maintains that yw19 > YPn1 means that it is an 23 0K, therefore he is WD even by an P 1 QX

13 727 stated that in this case of 2"Xw M2 91 he is 21 only for 11 but not for the other four payments for which an
P°1a 07X is 21 (which are naw 9> X and nw131), because he had no intent to damage. It would seem that 727 is
teaching us the most extreme case of 01, for which one is still pr12 2»1. However if the 013X would be more extreme
than »n">Xw M7 he would be 7wo. MO0 will now show that 2" Xw M7 is the equivalent of X3 (but not 713 O1X).

'® He is only liable if he damaged while falling; however if after he fell someone tripped over him; he is M, for in
this case his damaging is consider 712, and 712 is 2’17 only if it was made 7y°wd1.

' See later in this MmpoIN (by footnote # 35) why moo1n mentions 77°2x specifically (and not X"13)

'8 The xn>™2 there is referring to the four oW (PR oW w"w n'w) that if the ox, which was in their possession,
killed a person, and was put to death by 7", the 7% must pay the owner the value of the M, except for a n1"w. See
footnote # 19.

' The xm there asked why is a n"w different; Two3 7, if the ox was properly watched, all the o™ should be
M1, and if it was not properly watched, the 1" should also be 2»r.

2 A n"w is not responsible to guard it with a 79wn 7nw, rather a anno avnw is sufficient, therefore he is 7wd;
however the other W require a 77wn 77°1W, and since they only made a inmno 77w they are 2.
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So this type of 71"»w when breached is similar to X'"13 where a n''w is 715,”' and
aw"wis” 2on> -

To summarize the proof that 77%n 71X M7 is the equivalent of X"3: The X713 in 01107 states that
a door which can withstand a 7% M but cannot withstand a n">Xw mA is called a 7Mnd 7AY.
The X713 in 'M '7 P79 tells us that a n"w is MWD with a 7NId 7MWY, but a W'Y is 20 by a 771w
nmno (for a 1"w is MWD by X"3, and a w"w is X"132 2°1). A w"w would therefore be 21 for a mM
n'"RWw (which is a 7MM5 77°MW) proving that a 7°1%¥» 7°RXW M7 is the equivalent of X3, but it is not
like an 73 onX, for then the w"w would also be ™w». It is important to prove that a n">Xw M7 is
(merely) X" 1v2 but not like an 7m3 01X, since the 775%:7 is that a person who fell »"Xw mA1 is
21, so if a n" KXW M7 is an MM 01X, that would proof that an P17 07X is 271 even for Mna OIIX,
to which n1901n disagrees and will prove otherwise.

= PN DTN 9109 999) DINA VAN

However when it is an actual complete 2118, an P77 Q7R is MWD -
= T HX NTIPITNY IVEN W 195N N YW NN ONT MIHWITA ¥yHIWNT

As is evident in 521> 7150 that if a one was sleeping and his friend came

and lied down next to him and they damaged each other (during their sleep); the
rule is -
- 23551 %3911 9909 PYNID

The first one to lie there is "5, and the second one is 2977

Mmoo offers additional proofs that by an 7123 011X an P77 QX is VD:
- %5933 9w M7 PPYYN NIYIRY NINAY (x5 97 ow) - NIN SN2

And in X702 517 P19 where X290 states; if they slaughtered it and ate it, they

pay the cheaper price of the meat. mson explains the ruling -
- 739m30 1 NIN ¥PTNY NN DIYUN PR NDINY XIAY 1Y 0hY 190 RIY 11951

2! Even though an 117 07X is 217 for an X" 1v2 01X, nevertheless the 7"w is 712 in this case of X" Y2 01K, since
he is not an P> 078, he merely did not watch it with a a2wn 7vnw. The n'w was passive, but did not actively
damage the ox; it was 7"°2 who stoned him. See footnote # 31.

2 The fact that by this Amn® 7w (which cannot withstand a 7%» APXW 717) a 7" is M0 and a W"w is 20 proves
that 7m%n 71°Rw M is similar to X"13 (where a 1"w is Mo and a ¥"w is 270).

* When we say that an p°127 07X is D182 27, we mean that he was less negligent than 7y°w; he was as negligent as
X" or a 1M¥M A1XW M (which is compared to X" as N9OIN just proved).

* The first one is an m3 o1&; he could have done nothing to prevent the damage; however the second one is liable,
for he should not have lied next to the first one, since it possible to do damage while sleeping.

» The case there is where the father died and left over to his children a borrowed cow. The children had no
knowledge of it (they assumed it was their cow) and slaughtered the cow and ate it.

%0 See >"w there 712 7"7, that %12 7w2 *»7 means they pay only two-thirds of the market value.

7 They are not liable for damage since it is an o1X; however they received a benefit, for otherwise they would have
to pay to buy other food, so they pay 212 w2 *»7. They 0°»1n° can claim that had we known that this would cost us,
we would not have eaten such expensive meat when we could have eaten something less expensive. In response, the
0 o1 assume that a person would be willing to pay two-thirds of the market price for a good meal.
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That since they were not responsible to know that it was a borrowed cow (it
was an 01IX), therefore the 021n° do not pay for what they damaged (since they
are 0°01X), but rather they pay for their benefit; proving that by 773 01X one is Tws.

Another proof that an p>177 07X is MWD by an M3 01X
- ©99972 193NNY DTN 32 YV 1997 PRY 295 (ronyr nmnn 1207 0w 3,397 0w) - NN WA

And in the beginning of mi»7 P75 where the X713 states; ‘since it is not the

manner of people to concentrate on the roads’, therefore he is > -
= Y9999 10 RHY 295 199 9097 ONNT MY INY)Y

And similarly the remaining answers there which exempts him from paying,

since he was not responsible to know; all these answers prove that an P> 07X is 08
13 DINA.

A final proof:
= P HY2 MV N°AN YA TNIY BN 101D PYNRI 1N J¥a 19D (x5 97 Ponnt P51 19

And similarly in the 7wn» there, where it states; the barrel owner was walking
first, etc. and was followed by the beam owner and the beam broke the barrel; the
rule is that if the barrel owner stopped (without warning) the beam owner is

MWE. We again see that an P 17 OTX 1S MWD by an 73 01X -
— YN NNV DAY

And there are many similar proofs to this effect.

ndOIN asks:
- 99Y 92W 299019 NIN CDIIN IND YN TNINRT AN 9399 9NN ON)

And if you will say; and according to >'', who maintains that a %pn1 is not an

OuR, so therefore he holds the w''w liable for breaking the barrel -
- 155100 DN NID NYD) DIND 933P 10D INNPN

Why is one who transports the barrel for free, exempt from paying, but he is a
person who damaged?!

*% The mawn there (on X,12) states if one broke a pitcher, which was lying in the 1"77, while walking, he is M. The
X713 asked why is he 7v»; he should have watched where he is walking. The X723 there gives many reasons why he
is Mwo; the gist of all of them is that he could not have known that there was a pitcher there.

* The nawn there is discussing a case where two people, one carrying a barrel, and the second, following him, was
carrying a beam, and they collided in the 7"710.

0 If pn1 is an O, a w"w (who is 7102 by onx), would not be 2»n.

3! moon taught us previously that an P17 07X is liable in cases of 01X which are 772X 72213 1PY2T 01X, A DI VW
is 7w by X" if he was passive (see footnote # 21); however here where he broke the barrel he should be 21
(regardless of his status as a 1"w, but rather) as an p>177 07X, who is 217 even for 01X which is X" 7°y2.
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N1B0IN answers:
- 255100 DN MV 799 DINY 299 0T 1223 PYI AN %399 9N YPNIT 1Y Y

And one can say that according to ''1 a Ypni is similar to 77213 (not 77°2R),

which is close (or similar) to 9338 and therefore an P17 27X is TwD -
- 2ayswalh 2199 N1 ATANR Y NINY 9373 NIN D5110 BTN 2901 K9

For an 1777 27X is not liable (for 011X) except in a case where the 01X is similar

to 77°2K, which is close to mysws -
- 293IRY 129D 12530 AYIWAY NP ATHART (2,7 47 10p%) INIWNA IANTS

As the X 13 states in X7 P10 that 777928 is closer to my°w» and 7725 is closer

to O1IN -
= PN DTN NA 29N 97D Smypran PP NAIVN NMNN NINRY NI

And a 7mx» 8w 7 is considered like an ;77°ax (which is 7y'wsb 217p) and
therefore an 177 27R is liable for damage which he caused through a 7% APRW M1 —

mooIn will prove that we can distinguish by an P17 07X between 77°2X 1°Y2 01X and 72°13 PY2:
= 9997 (xmOX NNNN N7 OYY 3,08 97 X0P Ka3) NNAP HTINNA ¥HRYN 199

And this is also indicated in X202 ®127 275, where the X3 asks -

On the one who exempts a professional slaughterer who ruined the animal (he
did not slaughter it properly and it became a 777°21), in a case where he worked for
free (he was not paid for the fvnw); the X723 asks on this 7"n, from a Xn>’m2

which states -
- 37‘19\0 NV NIV 291 290 AY2) NALY NNNHA

One who brings ‘a 773 to a wmw and he made it 7%°21, the vmw is 2°°1 because

he is like a @2''®’. This concludes the citation of that X773. M0 continues -
= DINA NWIYY 29 by IN 92VY RV NIV AYPN 5V 1920 Y0 NN XHYN

Now what was the logic of the questioner who cited the Xn>72, which said that

321t turns out that according to "7 a w"w (who is liable for X"13) is more liable (even for a passive loss of 72°13) than
an P> 07X is liable for an active loss (of 72°12 1°Y2); since the W"W is being paid, his responsibility is greater.

¥ moon is parsing down further the liability of 11¥75 02 (according to *"), that not only does it not include an o1
713, but it does not even include an event which is similar to 72°13 (which is 1% 7217p); only by an event which is
similar to 77°aR (which is 7¥°wob 7217p) is an P>1an 07X liable for it.

** Logic dictates that losing an item (which indicates a certain carelessness on behalf of the custodian) is a greater
negligence, than having an item stolen (which could be due to the street smarts of the thief).

%5 See footnote # 17. One might have assumed that a 7% 71X M1 is more like 7213 (it is DIR? 211p), nevertheless
Moo assures us that it is 77°2X 1YD (perhaps because even though it is uncommon, it is sufficiently frequent, that
one should anticipate it [before going up to the roof]).

% This is 1391 2"R 737 92 72 721,

7 The xn»"2 states that he is 271 because he is like a "W even though he is not receiving payment, and nevertheless

he is 27; proving that even 01712 a 172V is liable, contrary to the ruling of jam .
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the 7% 12w is like a w'"w (and is liable) even if he is doing it for free® -
= PVID NIV 2291 99 19 191 99 XYWL N NADIN SNHN 399\’)12 AYYNT 920 N

If the 1wpn assumed that the m2v is considered a yue, why does the Xn»12
attribute his liability to his being like a w''w, the Xn»72 should have said, he is

liable because he is a ywp?!
- 2o5man 0N 1979 2990 19 59 5Y 4N “CATan) 129D NNITY 920 N

And if the jwpn assumed that the 7%2°3w nav is similar to X'\ and (even though
he is not liable as a w"w, since he is not being paid, but) nevertheless his is 3%

like the rule regarding an 3177 7N -
- a5y XU NYDY 2391 NN YN0 N0 )9 BN

If indeed this is so, (that the vmw is like X"12) what is the answer; ‘say since he is

a w''w’. mooin now analyzes the answer of the X3 -
- “o5mn DN 1975 299059 5123 99W K92 ATAN) 12939 Pyt aN

For if it is similar to X', the vmMY should be liable even without receiving

remuneration, like the ruling of an 31777 27X -
- %9095 33 99U XKW 19 BN 99193 DIRY 1Y NNTH YINND IN)

And if the answerer (who said 72w X1 X)W °107 X1°R) compares this 722°1 nav
to an 73 ©1R (and that is why he is not 2°°17 as an P17 07X), so even if he is a
©''w he should also be 9115, How are we to understand the X701 X?pw of the X3 there?!

mooIn explains that 873 and completes his proof:
= 11293 1P¥53 IV NN PP¥92 2N PINN DTN INTI NIN

So rather we can say with certainty that an 27 27K is 391 for damages which
are similar to 77928 (which is ny°ws? 1217p) and "ws for damages which are

similar to 172913 (which is 018 7217p) -
- ATAN PPYIY PPINT NOINY DD NYWPNRN 1YY TN NI

*¥ How did the Jwpn understand the ruling of the Xn»a that even though the nav was not paid, nevertheless he is
considered like a w"w; one who gets paid and is therefore 2>11? Why should it be so?!

** A professional vmw does not make a mistake by 7v°nw, unless he is grossly negligent.

0 The wmWw is not a ¥ but rather his negligence is less than a y29, but the equivalent of X", therefore the Xn*2
states that he is like a w"w who is "2 2°1. However the question still remains why is he 2°°17; he did not get paid?

“ An P11 07X is liable for an 772X (772°13) Y2 01X. The meaning of w"w> Riw °197 is that just like a w"w is 2171 for
X", the same applies to this vmw, for his mistake is similar to X", for which an P> 07X is 211 (even without pay).
42 The xm> there answered that there is no contradiction from the Xn>93 to 11 ", for the Xn»72 is discussing a case
where the r12v did get paid (and therefore he is 2°°17), however >"1 is discussing a 2172 112V (therefore he is 71vd).

“ moon is asking what does the 7¥7n assume; does he agree with the Jwpn that a 7921w nav is like X", or does he
maintains that it is an 21 01X; in either case the answer is not understood.

4 Why does 71m° " maintain he is 719; he is an P 17 X!

A w"w is 7100 by an 73 OIX.

7
TosfosInEnglish.com



2201177 '0In 2,29 12 .7"'02

So the mwpn compared 7w 9 p9p of the 3238 to be similar to 777°aR so he should
be 211 (even if he is not paid) -
1112933 1999 77 9909 DINA YaN *°99W XY NINY 2301 N1IINR 2IWN)

And the X7 answered that in the Xn»92 he is 211 only because he is a w''w (he
was paid), however if the v nw was for free (the case of 111 '), the MY is MWy,

for it is similar to 73%1% (which is 01%% 72177) and an P77 QX is liable only 77°aR 77w
(which is similar to 7v°w9). This proves that there is a difference by an P> 07X between 0IIXR
7201 1¥2 (where he is M09) and 777K 7Y 01X (where he is 2°1).

SUMMARY

In the case of n°an 7°2vn and it broke; according to "9 (here) that 5pniis an 01N
713, he is Mo even if he is a w"w, According to °"1 a Hpn1 is not a Yo, but rather
an 72°13 Py oNX (which is 713 03RS 7217p), therefore a w"w is 2°1 and a n"w is
Mo, The 21m of P17 27X (according to °"7) is only by an 712°13 1v3 01X (which is
TYwe° 72P).

THINKING IT OVER

1. mooIn proves from the question and answer of the X3 regarding a (72v) LMW
that there is a difference between 72213 1v2 and 77K 1¥2.*7 Seemingly 'o1n can
prove it directly from the rule that if he was 2172 VMW he is MWD and 7OW2 he is
21, So if he 1s considered a Y19 he should also be 211 even 2in32, and if it 1s like
X"13, he should be 177 07X 171 21. Therefore we must say that it 1s 72°13 792 and
therefore 75w2 he is W"W 171 217; however 0112 he is MWd since there is no 27X 2171
P T by 712213 PY2; only by 77°aR Pva. Why mention the entire X1 X7pw of the
Ra21

2. mpoIn explanation regarding the question and answer by a 12v, is not hinted at
all in the X7n3; it 1s 7907 12 07 Pova!

* He is w"w 171 21, but not PUTAn DTN PTA, since it is an 72°1 PYD oK, which is 77 "M% Mwo. See ‘Thinking it
over’.

47 See footnote # 46.

8 See TMHNA WION WX # 34.
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